2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8 = 50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
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a.
b.

C.

Differentiate between non—persmtent and persistent connect;ons in HTTP.

Explain the conditional GET %)peratlon

Ilustrate file distribution.time in peer to peer and c%xen server architecture.
W

Explam the causes and costs of c%geStlon
Elaborate the three way handshake in TCP.

.

5 OR :
Explain network asswtedmgongestlon control in TM Avallable B1t Rate (ABR).
Explain reliable data transfer in a channel with bit errors.

In detail explam the | selectlve repeat protocol for reliable data

L N
Gl

B Mg ule-3 &
er of a router.

Explain IPv6 pac ,;r$¢f6rmat in detail.
Explain the significance of spanning tree in broadcast routing.
Explain inter-AS routing in the internet with BGP protocol.
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(08 Marks)
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Module-4
Explain the threats to network security. 3 (08 Marks)
Explain RSA algorithm. Using RSA encrypt a me =9. Assume p=3,q=11 and
x = 3. Compute y and show encryption and decr%non (08 Marks)
Explain encryption in advanced encryption standard. (04 Marks)

In the Diffie Hellman key exchange p técol prove that the two keys K; and K, are equal.

(05 Marks)

With a neat diagram, discuss the (10 Marks)

Write a note on firewalls. . o (05 Marks)
\ Module-5 p

Explain multimedia streaming using HTTP. & (08 Marks)

What are the propeﬁ1e@of video? b (04 Marks)

Discuss loss ant1c1Qa qn schemes used by VOIP a*pphcaﬁons (08 Marks)

CMRIT LB/
BANGALORE - 560 (m"

i
Briefly d1chs§‘”how DNS redirects a user request to a CDN server with an example.

i,

« (08 Marks)
Explam settmg up a call to a known (08 Marks)
Explain'RTP packet header. (04 Marks)
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